Noraudio

ASSEMBLY INSTRUCTIONS

T R
po—3 = =2 | O
o o
o
o
o
%o
ol
o
[m— e C? °
o

|

i —

© 0O 0 E:s
Wil 11l
UL_‘U;

AL-QLD : ON [SPON




Component Checking-list

B ]

(
A icolumn i ‘ 1pc Control Box S 1pe
1 I e UL e
f4\
B Hanger 1pc | Screw M6* 16 Bpcs
2 | W
Q\
3 ; &
C {Bracket 1pc K| Screw Mm8*12 & Kpcs
\
D» ;"(:‘:mn L [ '\/‘L/"x ipc {amm Spanner
E [Remote | ® 1 pc lsmm Spanner J/ pc
E | power Cord ‘»},ﬁg\ tpc NO[MB Nut hpcs
s
G {Hand Controller 1pc 0 |screw ST4°16 W 10pcs
o Space
: co=d [ i
H " |Adaptor A, _J 1pc P |Space Screw Bag Screws 1bag
A Crosshead (Philips) screwdriver required for installation
19

D [x1]
Column Fixing Plate

Accesmbling The Column With

Plate

A [x1]1
Column

J [x4]
Screw M6*16

L [x1]

4mm Spanner

2/9




Installing The Column and Bracket

Fix TV Holder With Bracket

L [x1])
\\\\\\\\.\! 4mm Spanner

C [x1]
Bracket

J [x4]
Screw M6*16

wewwwonn

3/9

N [x8]
Nut M8

eovevocecorvoor)

s

B [x1]

TV Holder

cevcerasserasasd

K [x4]
Screw M8*12

M [x1]
Hexagon Wrench 5mm

4/9




n Fix Column And P

0000000

&

UIEJ
L

©c0000CO
000000

late With Cabinet

000000000500000‘

| e |

L 0 [x10]

Screw ST4*16

5/9

n Connect The Control System

1 [x1]
Control Box H I[x1]

Adaptor

F [x1]
Power Cord

6/9




Operation Manual

[1) Remote Control

Indicator Light

[2] Hand display

Setup Memory _ _ o@_m_\_ _ Up J_

719

[3] Remote Control Matching

Keep press up button ", also connect both adapter and control box meanwhile,until we hear the

buzzing

[4] Reset Operation

"~

After successful connection between control system and Lift Column,please hold the Down Button

for several seconds,the system enters initialization mode.Then remove handset until handset of LED

display shows number(RST to height)

[5] Column Stop Operation
Handest:Stop while running,press opposite button:upwards or downwards.
Remote Control:When the column during rising, you want to stop it,then you can press the button"o”,the

column will stop to rise.And if necessary to stop the column during the descent,you can press the

button"a",it will stop to move.

[6] Unit Conversion

Keep press “S” for 8s, the unit "cm™inch”system will switch automatically.

[7] Memory function

Handset:Touch "S" button,indicator show “S-*,meanwhile "S- " flicker,at the same time touch "1-4"

button to reserve this position to relative "1-4" four memory positions can reserve. [Memory positions

can be replaced with new preset height.]

[8] 8.Operation System Protection
After the lift runs continuously for 3~4 times,control system will be in protection. The handset shows
"HOT",meanwhile,handset will be invalid.18mins later, automatically connect or directly power

off.(power off refers to indicator light of adapter goes out )

Precautions:
The product shall be used in accordance with the technical parameters;

Keep away from corrosive gas and dusty environment, pay attention to waterproof.

LV The TV Lift can work normally after doing RESET operation when handset show “RS

8/9




